A6 8A 1 HIE (o An : HRA+HSAEN)

KW 4 HEE S | B[ (A) | B [ (B) | ##Pk | B (A+B) | I
T 2,517 -5 2,801 -9 2, 854 5 5, 655 —4
JATET—TH 1,059 4 959 3 833 -3 1,792 0
R — T H 615 0 574 0 571 -2 1, 145 -2
AT =TH 672 -2 711 -2 666 -1 1,377 -3
JHPTETIU T H 492 -3 510 0 527 0 1,037 0
T T H 348 5 364 2 331 4 695 6
JHPTHTS T H 307 5 371 6 391 1 762 7
FLoRHT 216 2 206 1 217 1 423 2

A 381 -1 447 0 454 -5 901 -5

T H 1,964 3 2,025 2 2,072 5 4, 097 7
PIPTHT 348 -1 336 ) 328 -5 664 —7

T H 956 5 1,018 6 979 1 1,997 7

T —TH 284 1 349 1 394 -1 743 0
HHT T H 351 -3 429 -3 442 -2 871 -5
T =T H 498 -4 670 -5 632 -1 1, 302 -6
FHTIU T H 302 0 399 1 394 -1 793 0
NEE it 231 ) 255 ) 248 -1 503 -3

W = 303 0 361 -1 332 -1 693 )

— YK 446 2 450 0 461 0 911 0

— Y ARHT—TH 0 0 0 0 0 0 0 0
YR TH 32 0 42 0 43 0 85 0
LN 108 -1 121 -1 118 0 239 -1

— Y K¥H 5 0 5 0 5 0 10 0
K » 45 691 -1 863 -1 856 -3 1,719 —4

Rk 4> 4,633 4 4, 857 -9 5, 069 -5 9,926 -14

FIER 4, 879 -5 4, 603 2 4, 684 -11 9, 287 -9

TR A 1,439 12 1,518 -3 1, 556 3 3,074 0
=+ 6 0 10 0 7 0 17 0
H+tH—TH 949 2 799 6 948 ) 1,747 4
E+HR_TH 1,153 -2 1, 090 -1 1, 179 1 2, 269 0
B5+H=TH 888 6 790 2 867 4 1,657 6
B EAMNTH 734 2 711 0 732 1 1, 443 1
B5+HHRATH 734 -3 765 ) 681 ) 1,446 —4
= LRANTH 0 0 0 0 0 0 0 0
e 1,995 1 1,970 2 1, 849 -5 3,819 -3

¥y —TH 303 -1 302 0 312 -1 614 -1
oy m_TH 244 1 248 -1 253 1 501 0
Iy =TH 440 -1 439 0 453 0 892 0
¥ U T H 777 19 697 7 810 15 1,507 22
ey EH T H 463 2 505 -2 519 6 1,024 4
FHIT— T H 258 0 301 -1 332 0 633 -1
R T H 603 0 585 —4 638 -3 1,223 -7
BT =T H 192 -2 183 -1 237 2 420 -3
it 33, 816 31 34, 639 -9 35, 274 -9 69, 913 -18




